
A B

C

1

2

WITHOUT SPACER: X=Y - 76mm
WITH ONE SPACER: X=Y - 101mm
WITH TWO SPACER: X=Y - 126mm

Cut the Aluminum Tubes (B) to the correct size.  Follow the chart below to calculate the measurement for your Aluminum Tubes (B).
PARTS: (B) Aluminum Tubes

Insert the caps (C) into all the tubes and tighten the M4x20 Screws (D).
PARTS: (C) End Caps  (D) M4x20 Screws 

 Y 

 X 

WITHOUT SPACER: X=Y-76mm
WITH ONE SPACER: X=Y-101mm
WITH TWO SPACER: X=Y-126mm

SHOE HOLDER

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

FEATURES
Shoe holder for removable frame.

PARTS
A. Downrights
B. Aluminum tubes
C. End Caps
D. M4x20 Screws 

MAINTENANCE
Clean with a soft, dry cloth. Avoid using solvents or abrasive.

I-5E240-0225INSTALLATION INSTRUCTIONS: SHOE HOLDER



4

3

 2
50

m
m

 

Place the two Downrights (A) inside the frame. 
PARTS: (A) Downrights

Insert the assembled Aluminum Tubes (B) into the downrights.
PARTS: (B) Aluminum Tubes

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126



A B

C

1

2

SIN ESPACIADOR / SANS ESPACEUR: X=Y - 76 mm
CON UN ESPACIADOR / AVEC UN ESPACEUR: X=Y - 101 mm

CON DOS ESPACIADORES / AVEC DEUX ESPACEURS: X=Y - 126 mm

PIEZAS: (B) Tubos de aluminio
Corte los tubos de aluminio (B) a la medida correcta. Consulte la siguiente tabla para calcular la medida de los tubos de aluminio (B).
PIÈCES : (B) Tubes d’aluminium
Coupez les tubes d’aluminium (B) selon les bonnes dimensions. Suivez le tableau ci-dessous pour calculer la longueur des tubes d’aluminium (B).

PIEZAS: (C) Tapones (D) Tornillos M4x20
Inserte los tapones (C) en todos los tubos y apriete los tornillos M4x20 (D). 

PIÈCES : (C) Embouts (D) Vis M4 x 20
Insérez les embouts (C) dans tous les tubes et serrez les vis M4 x 20 (D).

 Y 

 X 

WITHOUT SPACER: X=Y-76mm
WITH ONE SPACER: X=Y-101mm
WITH TWO SPACER: X=Y-126mm

ZAPATERO / RANGEMENT À CHAUSSURES

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

CARACTERÍSTICAS / CARACTERÍSTICAS
Zapatero para marco extraíble.
Rangement à chaussures pour cadre amovible.

PARTES / PIÈCES
A. Soportes inferiores / Supports
B.  Tubos de aluminio / Tubes en aluminium
C. Tapones / Embouts
D. Tornillos M4x20 / Vis M4 x 20

MANTENIMIENTO / ENTRETIEN
Limpie con un paño suave y seco. Evite el uso de disolventes o abrasivos.
Nettoyez le produit à l’aide d’un chiffon doux et sec.  
Évitez les solvants ou les produits abrasifs.

I-5E240-0225



4

3

 2
50

m
m

 

PIEZAS: (A) Soportes inferiores
Coloque los dos soportes inferiores (A) dentro del marco.
PIÈCES : (A) Supports
Déposez les deux supports (A) dans le cadre.

PIEZAS: (B) Tubos de aluminio
Inserte los tubos de aluminio armados (B) en los soportes inferiores.

PIÈCES : (B) Tubes d’aluminium
Insérez les tubes d’aluminium assemblés dans les supports (B).

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126


